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101. Total internal reflection of light can occur only when light passes 
 a) from denser to a rarer medium 
 b) from rarer to a denser medium 
 c) from one medium to another of equal refractive index 
 d) from one medium to another of equal absorption coefficient 
 
 xsp vg;nghOJ KO mfnajpnuhspapid milAk;? 
 a) mlh;kpF Clfj;jpypUe;J mlh; Fiwe;j Clfj;jpw;F nry;Yk; NghJ 
 b) mlh; Fiwe;j Clfj;jpypUe;J mlh;kpF Clfj;jpw;F nry;Yk; NghJ 
 c) rk vjpnuhspg;;G FwpaPl;bidf; nfhz;l xU Clfj;jpypUe;J kw;nwhU 
 Clfj;jpw;F nry;Yk; NghJ 
 d) rk cl;ftUk; khWghl;Lf; nfOtpidf; nfhz;l xU Clfj;jpypUe;J 
 kw;nwhU Clfj;jpw;F nry;Yk; NghJ 
 
 
102. The direction of magnetic field produced by a linear current is given by 
 a) right hand thumb rule  b) Fleming’s left hand rule 
 c) Joule’s law    d) Ampere’s law 
 
 ePs;thf;F kpd;Ndhl;lj;jpd; %yk; cUthFk; fhe;j Gyj;jpd; jpiriaf; 
 (direction) $WtJ? 
 a) tyf;if tpjp   b) gpskpq;fpd; ,lf;if tpjp 
 c) [_y; tpjp    d) Mk;gpah; tpjp 
 
 
103. Identify the correct statement 
 a) Carbogen is an anitodote for carbon monoxide poisoning 
 b) Fomite fire extinguisher contains solutions of aluminium sulphate and baking 
 soda 
 c) Dry powder extinguisher contain sand and baking soda 
 d) All are correct 
 
 rhpahd nrhw;nwhliuf; fz;Lgpb 
 a) fhh;Nghn[d; fhh;gd; Nkdhf;irL tp\j;jpid KwpT nra;Ak;. 
 b) Nghkpl; jPaizg;ghd; mYkpdpak; ry;Ngl; kw;Wk; rikay; Nrhlh 
 fyitapidf; nfhz;Ls;sJ 
 c) cyh; kpd; jPaidg;ghd; kzy; kw;Wk; rikay; Nrhlhtpidf; 
 nfhz;Ls;sJ 
 d) Nkw;$wpa midj;Jk; 
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104. Match the following and choose the correct answer: 
 List I        List – II 
 (Provisions)      (Article) 
 a) Writ Jurisdiction of the Supreme Court   - 1. Article 13 
 b) Suits against Government     - 2. Article 226 
 c) Writ Jurisdiction of the High Court    - 3. Article 300 
 d) Source of the power of Judicial Review   - 4. Article 32 
           - 5. Article 166 
  A B C D 
 a) 4 3 5 1 
 b)  3 4 2 5 
 c)  4 3 2 1 
 d)  5 4 3 2 
 
 fPo;fz;ltw;iw nghUj;jp rhpahd tpilia Njh;e;njLf;fTk; 
 gl;bay; - I      gl;bay; - II  
 (mk;rq;fs;)      (tpjpfs;) 
 a) cr;r ePjpkd;wj;jpd; Nguhiz mjpfhuk; - 1. tpjp 13 
 b) murhq;fj;jpw;F vjpuhd tof;Ffs;   - 2. tpjp 226 
 c) cah;ePjp kd;wj;jpd; Nguhiz mjpfhuk;  - 3. tpjp 300 
 d) ePjpg;Gduha;T mjpfhuj;jpd; Mjhuk;   - 4. tpjp 32 
         - 5. tpjp 166 
  A B C D 
 a) 4 3 5 1 
 b)  3 4 2 5 
 c)  4 3 2 1 
 d)  5 4 3 2 
 
 
105. The ‘Procedure established by law’ in Indian Constitution is a feature borrowed 

from the constitution of 
 a) South Africa b) Japan  c) Ireland  d) Canada 
 
 ,e;jpa murpayikg;gpd; ‘rl;lg;gbahd eltbf;if’ vd;w ,ay;G ngwg;gl;l 

murpayikg;G 
 a) njd;dhg;gphpf;fh b) [g;ghd;  c) mah;yhe;J  d) fdlh 
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106. Match the following and choose the correct answer: 
 Speaker  Tenure 
 a) Mavalankar 1. 1962 – 67 
 b) Hukam Singh 2. 1980 – 1989 
 c) K.S. Hegde  3. 1952 – 56 
 d) Bal Ram Jakhar 4.  1977 – 1980 
  A B C D  
 a) 3 1 4 2 
 b)  2 3 4 1 
 c)  2 1 3 4 
 d)  1 2 3 4 
 
 fPo;fz;ltw;iw nghUj;jp rhpahd tpil vOJf: 
 rghehafh;   tUlk; 
 a) khTyq;fh;   1. 1962 – 67 
 b) `f;fk; rpq;  2. 1980 – 1989 
 c) Nf. v];. n`f;Nl 3. 1952 – 56 
 d) ghy; uhk; [hf;fh;  4. 1977 - 1980 
  A B C D  
 a) 3 1 4 2 
 b)  2 3 4 1 
 c)  2 1 3 4 
 d)  1 2 3 4 
 
 
107. If an electric train running at 108 km per hour, crosses a tree standing by the side 

of a track in 10 seconds, the length of the train in meters is 
 a) 400   b) 350   c) 300   d) 450 
 
 xU kzpf;F 108 fp.kP Ntfj;jpy; nry;Yk; xU kpd;njhlh; tz;b> ghij Xuk; 

cs;s xU kuj;ij 10 tpdhbfspy; fle;J nry;Ykhapd;> mt;tz;bapd; 
ePsk; (kPl;lhpy;) 

 a) 400   b) 350   c) 300   d) 450 
 
 
108. The circumference of the base of a 12cm, high wooden solid cone is 44cm. Find 

the volume 
 a) 606cm3  b) 610 cm3  c) 614 cm3  d) 616 cm3 
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 kuj;jpdhyhd xU jpz;kf; $k;gpd; mbr; Rw;wsT 44 nr.kP. kw;Wk; mjd; 
cauk; 12 nr.kP. vdpy; mj;jpz;kf; $k;gpd; fd msitf; fhz;f. 

 a) 606 nr.kP3  b) 610 nr.kP3  c) 614 nr.kP3  d) 616 nr.kP3 

 
 
109. 10 women can complete a work in 7 days and 10 children take 14 days to 

complete the same work. How many days will 5 women and 10 children take to 
complete the work. 

 a) 3   b) 5   c) 7   d) None of these 
 
 10 ngz;fs; xU Ntiyia 7 ehl;fspy; Kbg;ghh;fs;. 10 Foe;ijfs; ;mNj 

Ntiyia 14 ehl;fspy; nra;J Kbg;ghh;fs;. 5 ngz;fs; kw;Wk; 10 
Foe;ijfs; Nrh;e;J mt;Ntiyia vj;jid ehl;fspy; nra;J Kbg;ghh;fs;? 

 a) 3     b) 5    
c) 7     d) Nkw;$wpatw;wpy; vJTkpy;iy 
 

 
110. The H. C. F of two numbers is 8, which one of the following can never be their  

L. C. M? 
a) 24   b) 48   c) 56   d) 60 
 
,uz;L vz;fspd; cah; nghJf; fhuzp 8 vdpy; gpd;tUtdtw;wpy; ve;j vz; 
mtw;wpd; kPr;rpW nghJ klq;fhf ,Uf;f KbahJ 
a) 24   b) 48   c) 56   d) 60 

 
 
111. The 2018 International Day of Tropics is observed on which date? 
 a) June 27  b) June 28  c) June 29  d) June 30 
 
 rh;tNjr ntg;gkz;ly jpdk; mDrhpf;fg;gLtJ vg;NghJ? 
 a) June 27  b) June 28  c) June 29  d) June 30 
 
 
112. Which Indian sportsperson was the India’s flag-bearer at the closing ceremony in 
 the 18th Asian Games? 
 a) Bajrang Punia b) Rahi Sarnobat c) Rani Rampal d) Vinesh Phogat 
 
 18tJ Mrpa tpisahl;Lg; Nghl;bapd; Kbtpy; ,e;jpa nfhbia Rke;J 
 nrd;w tpisahl;L tPuh; ahh;? 
 a) g[;uq; G+dpah b) u`p rh;Ndhgl; c) uhzp uhk;ghy; d) tpNd\; NgNfhl; 
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113. Which country has recently announced to launch Mars Mission “HOPE” by 2020? 
 a) Oman  b) UAE  c) Iran   d) Israel 
 
 2020-y; “HOPE” vd;w nrt;tha;f;fhd nraw;iff;Nfhis mDg;gTs;s ehL 
 vJ? 
 a) Xkd;     b) If;fpa muG mkPufk; 
 c) <uhd;    d) ,];Nuy; 
 
 
114. Which state government has launched ‘Star – Rating’ system for industries to 
 check air pollution? 
 a) Odisha  b) Punjab  c) Uttar Pradesh d) Madhya Pradesh 
 
 ‘Star – Rating’ KiwahdJ fhw;W khRghl;il jLf;f njhopw; 
 epWtdq;fSf;F mspf;fg;gLfpwJ. khepyk; vJ? 
 a) xb]h    b) gQ;rhg;  
 c) cj;jpug; gpuNjrk;  d) kj;jpag; gpuNjrk; 
 
 
115. MODVAT – means 
 a) Modern Value Added Tax b) Manufacture Value Added Tax 
 c) Modified Value Added Tax d) Multiple Value Added Tax 
 
 MODVAT vd;gJ 
 a) etPd kjpg;G $l;L thp  b) cw;gj;jp kjpg;G $l;L thp 
 c) jpUj;jpa kjpg;G $l;L thp d) gy;Kid kjpg;G $l;L thp 
 
 
116. The New Agricultural policy was announced in the year 
 a) 1989  b) 1999  c) 1992  d) 2000 
 
 Gjpa Ntshz;ik nfhs;if mwptpf;fg;gl;l Mz;L 
 a) 1989  b) 1999  c) 1992  d) 2000 
 
117. Arrange the Legislations/Acts, which were introduced for the emancipation of 
 women, in chronological order 
 I) Sarada Act 
 II) Abolition of SATI Act 
 III) Dowry Prohibition Act 
 IV) Abolition of Devadasi Act 
 a) I, II, IV, III  b) I, II, III, IV  c) II, I, III, IV  d) II, I, IV, III 
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 ngz; tpLjiyf;fhf ,aw;wg;gl;l rl;lq;fis fhy thpirg;gLj;jp vOJf 
 I) rhujh rl;lk; 
 II) rjp xopg;Gr; rl;lk; 
 III) tujl;rizj; jilr; rl;lk; 
 IV) Njtjhrp xopg;Gr; rl;lk; 
 a) I, II, IV, III  b) I, II, III, IV  c) II, I, III, IV  d) II, I, IV, III 
 
 
118. Match List I with List II and select the correct answer using the codes given 

below  
 List I    List II 
 A) Khan Bahadur  1. Lucknow 
 B) Kunwar Singh  2. Kanpur 
 C) Begum Hazrat Mahal 3. Bihar 
 D) Nana Shahib  4. Bareilley 
 Codes : 
  A B C D 
 a) 2 4 1 3 
 b) 3 2 4 1 
 c) 4 3 1 2 
 d) 2 3 4 1 
 
 thpir I  cld; thpir II –idg; nghUj;jp thpirfSf;F 
 fPo;nfhLf;fg;gl;Ls;s njhFg;gpypUe;J rhpahd tpilapid njhpT nra;f.  
 thpir I    thpir II 
 A) fhd; gfJ}h;   1. yf;Ndh 
 B) Fd;th; rpq;   2. fhd;G+h; 
 C) Ngfk; `ruj; k`hy;  3. gPfhh; 
 D) ehdh rh`{g;    4. igiua;yp 
 FwpaPLfs; : 
  A B C D 
 a) 2 4 1 3 
 b) 3 2 4 1 
 c) 4 3 1 2 
 d) 2 3 4 1 
 
 
119. The Ghadar party was organised under the leadership of 
 a) Lala Lajpat Rai   b) Thilak 
 c) Bipin Chandra Pal   d) Lala Hardayal 
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 fhjh; fl;rp __________ jiyikapd; fPo; Vw;gLj;jg;gl;lJ. 
 a) yhyh y[gj; uha;  b) jpyfh; 
 c) gpgpd; re;jpughy;    d) yhyh `h;jahs; 
 
 
120. Assertion (A) : The Indian Councils Act also called Morley – Minto reforms was  
      introduced in 1909. 
 Reason (R)  : Lord Curzon’s imperialistic attitude, autocratic rule and lack of  
     sympathy for Indians and the failure of 1892 Act to fulfill the  
     legitimate wishes of the people. 
 a) Both (A) and (R) are correct and (R) is the correct explanation for (A) 
 b) Both (A) and (R) are correct and (R) is not the explanation for (A) 
 c) (A) is right; (R) is wrong 
 d) (A) is wrong; (R) is right 
 
 $w;W (A)  : khh;Ny – kpd;Nlh rPh;jpUj;jk; vd miof;fg;gLfpd;w ,e;jpa  
        fTd;rpy; rl;lk; 1909y; Vw;gLj;jg;gl;lJ. 
 fhuzk; (R)  : fh;rd; gpuGtpd; Vfhjpgj;jpaNghf;F> jd;dpr;irahd Ml;rp>  
    ,e;jpah;fsplk; nfhz;l ,uf;fkpd;ik kw;Wk; ,e;jpa kf;fspd; 
    epahakhd Ntz;LNfhs;fis epiwNtw;wj; jtwpa 1892k;  
    Mz;L rl;lk;. 
 a) $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhpahdit NkYk;  fhuzk; (R)  
      $w;W (A) tpw;fhd rhpahd tpsf;fk; 
 b) $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhpahdit NkYk;  fhuzk; (R)  
     $w;W (A) tpw;fhd tpsf;fk; my;y 
 c) $w;W (A) rhp; ; fhuzk; (R) jtW 
 d) $w;W (A) jtW; ; fhuzk; (R) rhp 
 
 
121.  Match the following 
 List I    List II 
 A) Kalpakkam   1. News print 
 B) Jharia   2. Oil refining 
 C) Mathura   3. Coal mining 
 D) Nepa nagar  4. Nuclear Power Plant 
  A B C D 
 a) 4 2 1 3 
 b) 4 3 2 1 
 c) 1 2 3 4 
 d) 3 4 1 2 
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 gl;bay; I    gl;bay; II 
 A) fy;ghf;fk;   1. nra;jpj;jhs; 
 B) [hhpah   2. vz;nza; Rj;jpfhpg;G  
 C) kJuh   3. epyf;fhp Ruq;fk; 
 D) Negh efh;   4. mZkpd; epiyak; 
  A B C D 
 a) 4 2 1 3 
 b) 4 3 2 1 
 c) 1 2 3 4 
 d) 3 4 1 2 
  
 
122. In the total land area, the minimum forest cover, required maintain the ecological 
 balance is  
 a) 50%   b) 40%  c) 33%   d) 25% 
 
 nkhj;j epyg;gug;gpy;> Rw;Wr;#oy; rkepiyia guhkhpf;f Njitahd 
 fhLfspd; gug;gsthdJ 
  a) 50%   b) 40%  c) 33%   d) 25% 
 
 
123. The rise and fall of sea water twice due to gravitation is known as --------- 
 a) Tides  b) Ocean current c) Tsunami  d) Waves 
 
 fly; ePupd; cah;T kw;Wk; jho;T ------------ vdg;gLk; 
 a) Xjq;fs;  b) NguopT ePNuhl;lq;fs; c) Rdhkp d) miyfs; 
 
 
124. Synthetic detergents are 
 a) Sodium salt of fatty acids 
 b) a mixture of sodium carbonate and sodium chloride 
 c) Calcium salt of hydrochloric acid 
 d) a mixture of sodium salts of aromatic and aliphatic sulphonic aicds 
 
 nraw;if blh;n[z;l;Lfs; vd;gJ 
 a) nfhOg;G mkpyq;fspd; Nrhba cg;G 
 b) Nrhbak; fhh;gNdl; kw;Wk; Nrhbak; FNshiubd; fyit 
 c) i`l;NuhFNshhpf;mkpyj;jpd; fhy;rpak; cg;G 
 d) mNuhnkbf; kw;Wk; mypNgbf; ry;Nghdpf; mkpyj;jpd; Nrhba cg;Gf;fspd; 
 fyit 
 



 

9 
 

125. Which chemical is used in the place of sodium carbonate to make the soft glass 
 hard? 
 a) Calcium carbonate  b) Sodium sulphate 
 c) both a and b   d) Potassium Carbonate 
 
 nkd;fz;zhbia fbdf;fz;zhbahf khw;w Nrhbak; fhh;gNdl;bw;F gjpyhf 
 cgNahfg;gLj;jg;gLtJ vJ? 
 a) fhy;rpak; fhh;gNdl;  b) Nrhbak; ry;Ngl; 
 c) a kw;Wk; b ,uz;Lk;  d) nghl;lhrpak; fhh;gNdl; 
 
 
126. Match List I with List II and select the correct answer by using the codes given 
 below the lists 
 List I   List II 
 A. Glass  1) Soap 
 B. Cement  2) Super cooled liquid 
 C. C17H35COONa 3) Mixture 
 D. Paper  4) Cellulose 
  A B C D 
 a) 3 2 1 4 
 b) 2 3 1 4 
 c) 4 1 3 2 
 d) 1 4 2 3 
 
 gl;bay; I gl;bay; II cld; nghUj;Jf. NkYk; fPNo nfhLf;fg;gl;Ls;s 
 FwpaPLfspypUe;J rhpahd tpiliaj; Njhe;njL: 
 gl;bay; I  gl;bay; II 
 A. fz;zhb  1) Nrhg;G 
 B. rpnkz;l;  2) kpf Fsph;e;j jputk; 
 C. C17H35COONa 3) fyit 
 D. jhs;  4) nry;YNyh]; 
  A B C D 
 a) 3 2 1 4 
 b) 2 3 1 4 
 c) 4 1 3 2 
 d) 1 4 2 3 
 
 
127. The greatest number that exactly divides 105, 1001 and 2436 is  
 a) 7   b) 3   c) 9   d) 5 
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 105> 1001 kw;Wk; 2436 Mfpa vz;fis kpfr;rhpahf tFf;Fk; kPg;ngU vz;. 
 a) 7   b) 3   c) 9   d) 5 
 
 
128. The value of X in the equation (925)2 – (225)2 = 1000 X is 
 a) 805   b) 805000  c) 1850  d) 1.85 
 
 ;gpd;tUk; rkd;ghl;by; xd; kjpg;G vd;d? (925)2 – (225)2 = 1000 X is 
 a) 805   b) 805000  c) 1850  d) 1.85 
 
 
129. What could be the maximum value of R in the following equation, where P, Q and  

R represent the unit values 56 P + 37 Q = 48 R = 14818 
 a) 4   b) 8   c) 0   d) 6 
 
 gpd;tUk; rkd;ghl;by; P, Q kw;Wk; R Mfpait myF cWg;Gfs; vdpy;> R d; 

mjpfgl;r kjpg;G vJthf ,Uf;Fk;? 56 P + 37 Q = 48 R = 14818 
 a) 4   b) 8   c) 0   d) 6 
 
 
130. One half of one third of one sixth of a number is 10. Then the number is  
 a) 350   b) 360   c) 340   d) 375 
 
 xU vz;zpd; rhpghjpapy; %d;wpd; xU klq;fpy; Mwpy; xU klq;F 10 vdpy; 

me;j vz;  
 a) 350   b) 360   c) 340   d) 375 
 
 
131. Tipu Sultan died at the battle in 
 a) Srirangapattinam   b) Mangalore 
 c) Mysore    d) Bangalore 
 
 jpg;GRy;jhd; Nghhpy; caphpoe;j ,lk; 
 a) =uq;fg;gl;bdk; b) kq;fSh;  c) ik#h;   d) ngq;fSh; 
 
 
132. Choose the incorrect pair regarding the Acts and the years they are introduced. 
 a) General Service Enlistment Act     – 1856 
 b) Religious Disabilities Act      – 1850 
 c) Indian Civil Service Act      – 1856 
 d) Post Office Act       – 1854 
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 fPo;f;fz;l midj;J ,izfSk; rl;lq;fSk; mJ mwpKfg;gLj;jg;gl;l 
 Mz;il rhh;e;jit. ,jpy; vJ jtwhd ,iz. 
 a) nghJr;Nrit nra;a Njh;e;njLf;Fk; rl;lk;  - 1856 
 b) rkaf;FiwghL rl;lk;      - 1850 
 c) ,e;jpa eph;thfg;gzpfSf;fhd rl;lk;   - 1856 
 d) jghy; mYtyfr; rl;lk;     - 1854 
 
 
133. Consider the following statement 
 I) The battle of Plassey established the British control over Bengal 
 II) The Battle of Buxar made the East India company a sovereign power of India  
 a) Only I is true   b) Only II is true 
 c) Both I and II are true  d) Both I and II are wrong 
 
 fPo;fz;l nrhw;nwhliu fUJf 
 I) gpshrpg;Nghh; tq;fhsj;jpy; Mq;fpNyahpd; fl;Lg;ghl;il Njhw;Wtpj;jJ 
 II) gf;rhh; Nghh; ,e;jpah KOtJk; Mq;fpy fpof;fpe;jpa fk;ngdpapd; 
 MSikia Vw;gLj;jpaJ 
 a) I kl;Lk; rhpahFk;   b) II kl;Lk; rhpahFk; 
 c) I kw;Wk; II rhpahFk;  d) I kw;Wk; II jtwhFk; 
 
 
134. The power to Scrutinise the report of the Comptroller and Auditor General of 

India is vested with 
 a) The President   b) Union Finance Minister 
 c) Finance Commission  d) Public Accounts Committee 
 
 ,e;jpa jiyik jzpf;if kw;Wk; fl;Lg;ghl;lhshpd; mwpf;ifia ghprPyid 

nra;Ak; mjpfhuj;ij ngw;Ws;s mikg;G 
 a) FbauR jiyth;   b) kj;jpa epjp mikr;rh; 
 c) epjp Mizak;   d) nghJ fzf;F FO 
 
 
135. Which of the following Constitutional authority can hold office during the 

pleasure of the President? 
 a) Governor of State   

b) Election Commissioner 
 c) Vice- President of India   

d) Speaker of the Loksabha 
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 gpd;tUk; murpayikg;G mjpfhutikg;Gfspy; FbauR jiyth; tpUk;Gk; 
tiu kl;LNk gjtpapy; ,Uf;f $bath; ahh;? 

 a) khepy MSeh;    
b) Njh;jy;Mizah; 

 c) ,e;jpa Jizf;FbauR jiyth; 
d) kf;fsit rghehafh; 

 
 
136. What are the following Articles of the constitution explain the distribution of 

revenues between the Centre and the States? 
 a) Articles 268 – 276   b) Articles 277- 280 
 c) Articles 352 – 356   d) Articles 378 – 379 
 
 kj;jpa khepy tUtha; gfph;e;jspg;Gg; gw;wp fPo;f;fz;l ve;j murpayikg;Gr; 

rl;l tpjpfs; tpsf;Ffpd;wd? 
 a) tpjpfs; 268 – 276  b) tpjpfs; 277- 280 
 c) tpjpfs;  352 – 356  d) tpjpfs; 378 – 379 
 
 
137. RIDF means 
 a) Rural Insurance Development Fund 
 b) Rural Industrial Development Fund 
 c) Rural Infrastructure Development Fund 
 d) Rural Investment Development Fund 
 
 RIDF vd;gJ 
 a) fpuhk fhg;gPl;L Kd;Ndw;w epjp  

b) fpuhk njhopy; Kd;Ndw;w epjp 
 c) fpuhk $l;likg;G Kd;Ndw;w epjp 
 d) fpuhk KjyPl;L Kd;Ndw;w epjp 
    
 
138. Adam Smith’s famous book “Wealth of Nations” was published in the year 
 a) 1771  b) 1773  c) 1775  d) 1776 
 
 Mlk; ];kpj;jpd; ehLfspd; nry;tk; vd;w kpf cah;e;j E}y; ntspaplg;gl;l  

Mz;L 
 a) 1771  b) 1773  c) 1775  d) 1776 
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139. Mt Everest Friendship Exercise is the name of military exercise between: 
 a) India & Nepal   b) Nepal & China 
 c) India & China   d) India, Nepal and China 
 
 vtnu];l; kiy el;GwT gapw;rp vd;w ,uhZtg; gapw;rp ve;j ehLfSf;F 
 ,ilapy; eilngw;wJ? 
 a) ,e;jpah & Neghsk;  b) Neghsk; & rPdh 
 c) ,e;jpah & rPdh   d) ,e;jpah> Neghsk; & rPdh 
 
 
140. Which of the following countries have recently celebrated the 100 years of Battle 
 of Haifa? 
 a) India & Israel   b) Israel & UAE 
 c) India & Afghanistan  d) Pakistan & Iran 
 
 rkPgj;jpy; i`/gh Nghhpd; 100tJ Mz;il nfhz;lhba ehLfs; ahJ? 
 a) ,e;jpah & ,];Nuy;  b) ,];Nuy; & If;fpa muG mkPufk; 
 c) ,e;jpah & Mg;fhdp];jhd; d) ghfp];jhd; & <uhd; 
 
 
141. Which state government will observe 2018 Independence Day eve as Shahid 
 Samman Divas to honour martyrs? 
 a) Madhya Pradesh   b) Andhra Pradesh 
 c) Himachal Pradesh   d) Arunachal Pradesh 
 
 2018k; Mz;L Rje;jpu jpdj;ij r`Pj; rkd; jpth]; vd;W nfhz;lhba 
 khepyk; 
 a) kj;jpa gpuNjrk;   b) Me;jpu gpuNjrk; 
 c) ,khr;ry; gpuNjrk;  d) mUzhr;ry gpuNjrk; 
 
 
142. Which acclaimed personality has been selected for 2018 Rajiv Gandhi 
 Sadbhavana Award for promoting communal harmony and peace.? 
 a) Raghuram Rajan   b) Muzaffar Ali 
 c) Amitabh Bachchan  d) Gopalkrishna Gandhi 
 
 r%f ey;ypzf;fj;ijAk; mikjpiaAk; Cf;Ftpg;gjw;fhf uh[Pt; fhe;jp 
 rhj;gtdh tpUJ – 2018 ahUf;F toq;fg;gl;lJ? 
 a) uFuhk; uh[d;   b) Krhgh; myp 
 c) mkpjhg; gr;rd;   d) NfhghyfpU\;z fhe;jp 
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143. Match List I with List II and select the correct answer by using the codes given 
 below the lists 
 List I    List II 
 A. Silver bromide  1) Etching of glass 
 B. Hydrogen peroxide 2) Photography 
 C. Hydrofluric acid  3) Purification of air 
 D. Ozone   4) Bleaching agent 
  A B C D 
 a) 3 2 1 4 
 b) 2 3 1 4 
 c) 4 1 3 2 
 d) 1 4 2 3 
 gl;bay; I gl;bay; II cld; nghUj;Jf. NkYk; fPNo nfhLf;fg;gl;Ls;s 
 FwpaPLfspypUe;J rhpahd tpiliaj; Njhe;njL: 
 gl;bay; I    gl;bay; II 
 A. rpy;th; GNuhikL   1) fz;zhbapy; nrJf;FUtk; nra;jy; 
 B. i`l;u[d; ngh; Mf;irL 2) Gifg;glj; njhopy; 
 C. i`l;Nuh/GShpf; mkpyk;  3) fhw;iw Rj;jhpj;jy; 
 D. XNrhd;    4) ntSg;ghf;Fk; fhuzp 
  A B C D 
 a) 3 2 1 4 
 b) 2 3 1 4 
 c) 4 1 3 2 
 d) 1 4 2 3 
 
144. Bohr’s atomic model is based on the following assumptions  
 a) an atom consists of nucleous 
 b) An electron remains moving with continuous loss of energy 
 c) An electron shifts gradually from a lower energy level to higher energy 
 absorbing one or more photos of energy 
 d) None of these 
 
 Nghhpd; mZkhjphp gpd;tUtdtw;wpy; vjd;; mbg;gilapy; 
 cUthf;fg;gl;lJ? 
 a) xU mZ epA+f;spNahyi]f; nfhz;Ls;sJ 
 b) xU vyf;l;uhd; njhlh;r;rpahd Mw;wy; ,og;Gld; efh;e;J nfhz;Nl 
 ,Uf;fpwJ 
 c) xU vyf;l;uhd; xd;W (m) mjw;F Nkw;gl;l Nghl;lhdpd; Mw;wiy 
 cwpQ;rpf; nfhz;L nkJthf Fiwe;j Mw;wy; kl;lj;jpypUe;J cah;e;j 
 Mw;wy; kl;lj;jpw;F ,lk; ngh;fpwJ 
 d) Nkw;$wpatw;wpy; vJTkpy;iy 
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145. Penicillin inhibits bacterial multiplication because 
 a) it inhibits cell wall formation b) it checks RNA synthesis 
 c) it destroys chromatin  d) it checks spindle formation 
 
 ngdprpypd;;>nry;ypd; ghf;Bhpahf;fspd; ngUf;fj;ij jLf;fpwJ Vnddpy; 
 a) ,J nry;Rth; cUthtij jLf;fpwJ 
 b) ,J RNA cw;gj;jpia jLf;fpwJ 
 c) ,J FNuhkhl;bid mopf;fpwJ 
 d) ,J ];gpz;by; ehh;fs; cUthtijj; jLf;fpwJ 
 
 
146. Name the organisation established by Devendra Nath Tagore 
 a) Sangat sabha   b) Tatva Bodhini sabha 
 c) Indian Reform society  d) Brahmosamaj 
 
 Njtpe;jpuehj; jh$h; Vw;gLj;jpa mikg;gpd; ngaiu Fwpg;gpLf 
 a) rq;fj; rgh    b) jj;JtNghjpdp rgh  
 c) ,e;jpa rPh;jpUj;j rq;fk; d) gpuk;k rkh[k; 
 
 
147. The first patriot who started the Individual Satyagraha in 1940 was 
 a) Gandhi    b) Vino Bhave 
 c) Jai Prakash Narain  d) Madan Mohan Malaviya 
 
 1940-y; jdpegh; rj;jpahfpuf Nghuhl;lj;ij Jtf;fp itj;j Kjy; Njrgf;jh; 
 ahh;? 
 a) fhe;jp     b) tpNdhghth 
 c) n[agpufh\; ehuhaz;  d) kjd; Nkhfd; khstpah 
 
 
148. In which year did Rajaji become the Chief Minister of Madras for the first time? 
 a) 1947  b) 1940  c) 1930  d) 1937 
 
 Kjd; Kjyhf uh[h[p ve;j Mz;L nrd;idapd; Kjyikr;rh; Mdhh;? 
 a) 1947  b) 1940  c) 1930  d) 1937 
 
 
149. Which act empowered the crown to create a board of six commissioners for the 
 affairs of India? 
 a) Pitt’s India Act   b) Regulating Act 
 c) Charter Act 1793   d) Charter Act of 1813 
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 ve;jr; rl;lk; MW fkp\dh;fisf; nfhz;l thhpak; ,e;jpa tptfhuq;fisf; 
 ftdpj;Jf; nfhs;s murh; epakdk; nra;ayhk; vdf; $wpaJ? 
 a) gpl; ,e;jpar; rl;lk;   b) xOq;F Kiwr; rl;lk; 
 c) 1793 Mk; Mz;L gl;lar; rl;lk; d) 1813 Mk; Mz;L gl;lar; rl;lk; 
 
 
150. Who has been appointed the first-ever female major general in the 47 years 
 history of Bangladesh? 
 a) Nasreen Jahan b) Selina Hossain c) Monica Ali  d) Susane Giti 
 
 tq;fNjr tuyhw;wpy; Kjy; Kiwahf ngz; Nk[h; n[duyhf 
 epakpf;fg;gl;lth; ahh;? 
 a) e];hpd; [`hd;   b) nrypdh N`hird;  
 c) Nkhdpfh myp   d) Rrd; fpl;b 
 
 
151. In which part of the Indian Constitution ‘emergency provisions’ has been 

incorporated? 
 a) Part XV  b) Part XVI  c) Part XVII  d) Part XVIII 
 
 ,e;jpa murpayikg;gpy; ve;jg; gFjpapy; ‘mtruepiyg; gpufldq;fs;’ 

Nrh;f;fg;gl;bUf;fpd;wd? 
 a)  gFjp XV  b) gFjp XVI  c) gFjp XVII  d) gFjp XVIII 
 
 
152. The Committee on Estimates, consisting of 30 members, is constituted by 
 a) the Lok Sabha only   

b) the Rajya Sabha only 
 c) both the Houses of the Parliament 
 d) the States legislatures 
 
 30 cWg;gpdh;fisf; nfhz;l kjpg;gPl;Lf; FO cUthf;fg;gLtJ 
 a) kf;fsitapypUe;J kl;Lk;  
 b) khepyq;fsitapypUe;J kl;Lk; 
 c) ghuhSkd;wj;jpd; ,U mitfspypUe;Jk; 
 d) khepy rl;l kd;wq;fspypUe;J 
 
153. The right restricted by Preventive detention is 
 a) Right to freedom    b) Right to constitutional remedies 
 c) Cultural and educational rights  d) None of the above 
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 jLg;G fhtyhy; ghjpf;fg;gLk; chpik 
 a) Rje;jpuj;jpw;fhd chpik  

b) murpayikg;G ghJfhg;gpd; chpik 
 c) fyhr;rhu kw;Wk; fy;tpf;fhd chpik 
 d) ,it vJTk; ,y;iy 
 
154. A girl is 37.5 m away from  a tower. Her eye level above the ground is 2.5m. The 

angle of elevation of the tower from her eyes is 45°. What is the height of the 
tower? 

 a) 35 m  b) 37.5 m  c) 40 m  d) 42.5 m 
 
 xU NfhGuj;jpypUe;J 37.5 kP J}uj;jpy; epd;W nfhz;bUf;Fk; xU khztp 

NfhGuj;jpd; cr;rpia 45° Vw;wf; Nfhzj;jpy; fhz;fpwhs;. mtSila 
fpilepiyg; ghh;itf; NfhL jiuapypUe;J 2.5kP cauj;jpy; cs;sJ vdpy;> 
NfhGuj;jpd; cauk; vd;d? 

 a) 35 kP  b) 37.5 kP  c) 40 kP  d) 42.5 kP 
 
 

155. Simplify: 
(1728)

1
3+ (343)

1
3  

(625)
1
2  − (36)

1
2

 

 a) 4   b) 3   c) 2   d) 1 
 

RUf;Ff: : 
(1728)

1
3+ (343)

1
3  

(625)
1
2  − (36)

1
2

  

 a) 4   b) 3   c) 2   d) 1 
 
 
 
 
156. Simplify the following: 

  
1

64
 0 +  64 

−1

2
 +  32 

4

5
  -  32 

−4

5
 

 a) 13 
1

16
   b) 15 

3

16
   c) 17 

1

16
    d) 19 

3

16
 

 
 gpd;tUtdtw;iwr; RUf;Ff: 

  
1

64
 0+  64 

−1

2
 +  32 

4

5
 -  32 

−4

5
 

 a) 13 
1

16
   b) 15 

3

16
   c) 17 

1

16
    d) 19 

3

16
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157. A function f: [-7, 6] ⇒R is defined as follows f (x) = x2 + 2x + 1  -7 ≤ x < -5 
             x + 5 -5 ≤ x ≤ 2  
                  x – 1 2 < x < 6 
 
 

what is thevalue of 
4f  −3 − 2f (4)

f  −6 − 4f 1 
 ? 

a) 
2

7
      b) 

7

2
     c) 2   d) 

1

2
 

 
 

 rhh;G f: [-7, 6] ⇒R fPo;f;fz;lthW tiuaWf;fg;gl;Ls;sJ  
 f (x) =     x2 + 2x + 1  -7 ≤ x < -5 

   x + 5  -5 ≤ x ≤ 2 vdpy;  
4f  −3 − 2f (4)

f  −6 − 4f 1 
 ? d; kjpg;G vd;d? 

 x – 1  2 < x < 6 
 

 a) 
2

7
      b) 

7

2
     c) 2   d) 

1

2
 

 
 
 
158. At which place the world’s Extreme Altitude Research Centre is located and which 
 organisation developed centre? 
 a) Kashmir, ISRO b) Shimla, IISC c) Ooty, DRDO d) Changla, DRDO 
 
 cyfpNyNa kpfTk; caukhd ,lj;jpy; cs;s Muha;r;rp ikak; 
 vq;Fs;sJ? mJ ve;j mikg;ghy; epWtg;gl;lJ? 
 a) Kashmir, ISRO b) Shimla, IISC c) Ooty, DRDO d) Changla, DRDO 
 
 
159. In which of the following states, India’s 1st AYUSH University will be set up? 
 a) Sikkim  b) Haryana  c) Karnataka  d) West Bengal 
 
 ,e;jpahtpd; Kjy; AYUSH gy;fiyfofk; vq;F epWtg;gl;Ls;sJ? 
 a) rpf;fpk;  b) `hpahdh  c) fh;ehlfh   d) Nkw;F tq;fhsk;  
 
 
160. Which one of the following is known as “Shooting Stars”? 
 a) Comets  b) Meteors  c) Pole Star  d) Stars  
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 gpd;tUtdtw;wpy; ve;j xd;W vhp el;rj;jpuq;fs; vd mwpag;gLfpd;wd? 
 a) thy; el;rj;jpuq;fs;  b) tpz;fw;fs; 
 c) JUt el;rj;jpuk;   d) el;rj;jpuq;fs; 
 
 
161. Which state in India has largest number of Poultry Population? 
 a) Andra Pradesh b) West Bengal c) Odisa  d) Tamil Nadu 
 
 ,e;jpahtpy; ve;j khepyj;jpy; kpf mjpf mstpy; Nfhopg; gz;izfs; 
 mike;Js;sd? 
 a) Me;jpu gpuNj\;   b) Nkw;F tq;fhsk;   
 c) xhprh    d) jkpo;ehL 
 
 
162. The Kisan Credit Card Scheme was introduced in India, in the year 
 a) 1996 – 97  b) 1997 – 98  c) 1998 – 99  d) 1999 – 2000 
 
 ,e;jpahtpy; tptrha fld; ml;il mwpKfg;gLj;jg;gl;l Mz;L 
 a) 1996 – 97  b) 1997 – 98  c) 1998 – 99  d) 1999 – 2000 
 
 
163. When was National Planning Commission set up by Central Government? 
 1) March 1947 
 2) March 1948 
 3) March 1949  
 4) March 1950 
 a) 1 only  b) 2 only  c) 3 only  d) 4 only 
 
 kj;jpa murhy; vg;NghJ Njrpa jpl;lf;FO njhlq;fg;gl;lJ? 

1) khh;r; 1947 
2) khh;r; 1948 
3) khh;r; 1949 
4) khh;r; 1950 
a) 1 kl;Lk;  b) 2 kl;Lk;  c) 3 kl;Lk;  d) 4 kl;Lk; 
 
 

164. The Mughalsarai junction has recently renamed as Deen Dayal Upadhyaya 
 railway station. It is located in which state? 
 a) Bihar   

b) Uttar Pradesh  
c) Uttarakhand  
d) Delhi 
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 nkhfy;rhuha; re;jpg;G rkPgj;jpy; jPd jahy; ,uapy; epiyak; vd ngah; 
 khw;wg;gl;lJ. ,J mike;Js;s khepyk; vJ? 
 a) gPfhh;   

b) cj;jpu gpuNjrk;  
c) cj;jufhz;l;  
d) nly;yp 
 

 
165. What is the current number of India’s Biosphere reserves included in the World 
 Network of Biosphere Reserves? 
 a) 8   b) 9   c) 10   d) 11 
 
 caph;Nfhs mikg;ghdJ ,e;jpahtpy; nkhj;jk; vj;jid cs;sJ? 
 a) 8   b) 9   c) 10   d) 11 
 
 
166. The 2018 Nallur Kantha Swamy festival has started in which neighbouring country 
 of India? 
 a) Bangladesh b) Bhutan  c) Sri Lanka  d) Nepal 
 
 ey;Y}h; fe;jhRthkp jpUtpoh ve;j mz;il ehl;by; ele;jJ? 
 a) tq;fhs Njrk; b) G+lhd;  c) ,yq;if  d) Neghsk; 
 
 
167. Who has been appointed the new Governor of Jammu & Kashmir (J & K)? 
 a) Satya Pal Malik    

b) Tathagata Roy 
 c) Satyadev Narayan Arya   

d) Baby Rani Maurya 
 
 [k;K fh\;kPhpd; Gjpa MSeh; ahh;? 
 a) rj;aghy; khypf;    

b) jjfjh uha; 
 c) rj;aNjt; ehuhaz; Mh;ah  

d) Nggp uhzp nkshpah 
 
168. The 20th term of 2, 10, 30, 68 ……. is 
 a) 408   b) 8020  c) 820   d) 420 
 
 2, 10, 30, 68, ……… vd;gjd; 20 Mk; cWg;G  
 a) 408   b) 8020  c) 820   d) 420 
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169. Two pipes can fill a tank in 10 hours and 12 hours respectively while a third pipe 

empties the full tank in 20 hours. If all the three pipes operate simultaneously, in 
how much time the tank will be filled? 

 a) 7 hours  b) 8 hours  c) 7 hours 30 min d) 8 hours 30 min 
 

,uz;L Foha;fs; xU njhl;bia KiwNa 10 kzp kw;Wk;  12 kzp 
Neuj;jpy; epug;g $bait. NkYk; %d;whtJ xU Foha; MdJ KO 
njhl;biaAk; 20 kzp Neuj;jpy; fhyp nra;af; $baJ. %d;W Foha;fSk; 
xNu Neuj;jpy; nray;gl;lhy; njhl;b KOtJk; epuk;g vt;tsT Neuk; MFk;? 

 a) 7 kzp  b) 8 kzp  c) 7 kzp 30 epkp. d) 8 kzp 30 epkp 
 
 
170. Find the missing number in the place of “?” 3: 11:: 7 :? 
 a) 18   b) 22   c) 29   d) 51 
 3: 11:: 7 :? “?” vd;w ,lj;jpy; tpLgl;l vz;izf; fz;Lgpb. 
 a) 18   b) 22   c) 29   d) 51 
 
 
171. In what time will Rs 1000 become Rs. 1, 331 at 10% per annum compounded 

annually? 
 a) 2     b) 3    

c) 4     d) None of these 
 

 & 1000 MdJ 10% Mz;L $l;L tl;b tPjj;jpy;; vj;jid Mz;Lfspy; &. 
1>331 MFk;?  

 a) 2     b) 3    
c) 4     d) Nkw;$wpatw;wpy; vJTk; ,y;iy. 
 

 

172. A sum of money doubles itself at 6
1

4
% per annum over a certain time. Find the 

number of years. 
 a) 16     b) 14 
 c) 20     d) None of these 
 

 vj;jid Mz;Lfspy; xU Fwpg;gpl;l mry; 6
1

4
% tl;bapy; ,U klq;F MFk;? 

 a) 16     b) 14    
c) 20     d) Nkw;$wpatw;wpy; vJTk; ,y;iy 
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173. Match the following : 
 A) Manipuri  - 1. North India 
 B) Mohini Attam - 2. Manipur 
 C) Kuchipudi  - 3. Kerala 
 D) Kathak  - 4. Andra Pradesh 
  
  A B C D 
 a) 1 4 3 2 
 b) 2 3 4 1 
 c) 3 2 4 1 
 d) 4 3 1 2 
 
 
 
 nghUj;Jf : 
 A) kzpg;Ghp  - 1. tl ,e;jpah 
 B) Nkhfpdp Ml;lk; - 2. kzpg;Gh; 
 C) Fr;rpGb  - 3. Nfush 
 D) fjf;  - 4. Me;jpuh 
  A B C D 
 a) 1 4 3 2 
 b) 2 3 4 1 
 c) 3 2 4 1 
 d) 4 3 1 2 
 
 
174. The book “281 and Beyond” is the autobiography of which Indian cricketer? 
 a) Rahul Dravid b) Sourav Ganguly c) Sunil Gavaskar d) VVS Laxman 
 
 “281 and Beyond” vd;w Gj;jfk; ve;j fphpf;nfl; tPuhpd; Rarhpij 
 a) uhFy; buhtpl; b) rTut; fq;Fyp c) Rdpy; fth];fh; d) VVS yf;\;kd; 
 
 
175. Who of the following have won the 2018 Rajiv Gandhi Khel Ratna? 
 a) Hima Das & Manika Batra  

b) Virat Kohli & Mirabai Chanu 
 c) Jinson Johnson & Savita Punia  

d) Neeraj Chopra & Jiwanjot Singh Teja 
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 2018 uh[Pt; fhe;jp Nfy; uj;dh tpUJ ngw;wth;? 
 a) `Pkh jh]; & kzpfh gj;uh 
 b) tpuhj; Nfhyp & kPuhgha; rhZ 
 c) [pd; [hd;rd; & rtpjh G+dpah 
 d) ePu[; Nrhg;uh & [Ptd;N[hj;rpq; Nj[h 
 
 
176. Who has been appointed new chairman of the Defence Research and 
 Development Organisation (DRDO)? 
 a) G Satheesh Reddy  b) Sanjay Mitra 
 c) S Christopher   d) Mrinal S Das 
 
 DRDO-tpd; Gjpa jiyth; ahh;? 
 a) G rjP]; nul;b   b) rd;[a; kpj;uh 
 c) S fphp];Nlhgh;   d) kphpdhy; S. jh]; 
 
 
177. Consider the Statement and Reason, choose the correct answer from the codes 
 given below : 
 Assertion (A) : The concept of Federalism for India is originated in the First Round  
     Table Conference. 
 Reason (R)  : It aimed to counterpoise the extremission of Congress men. 
 
 a) Both (A) and (R) are true, (R) is the correct explanation for (A) 
 b) Both (A) and (R) are true, (R) is not the correct explanation for (A) 
 c) (A) is true but (R) is false 
 d) (A) is false but (R) is true 
 
 fPNo nfhLf;fg;gl;l fUj;JUtpy;> fhuzk;> tpsf;fj;ij Ma;T nra;J 
 nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J rhpahd tpilia Njh;T nra;.  
 fUj;J (A)  : ,e;jpahtpy; $l;lhl;rpf; $W vd;gJ Kjy; tl;l Nki[  
    khehl;by; cjakhdJ. 
 fhuzk; (R)  : ,J fhq;fpu];fhuh;fspd; jPtputhjg; Nghf;fpid rkhspf;f  
    vLj;Jf; nfhz;l vjph; eilahFk;. 
 
 a) (A) kw;Wk; (R) ,uz;Lk; rhp. (A) d; rhpahd tpsf;fk; (R) MFk;. 
 b) (A) kw;Wk; (R) ,uz;Lk; rhp. (A) d; rhpahd tpsf;fk; (R) my;y 
 c) (A) rhp Mdhy; (R) jtW 
 d) (A) jtW Mdhy; (R) rhp 
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178. The “people’s plan” was formulated by 
 a) Mahalanobis   b) Jawaharlal Nehru   
 c) M. N. Roy    d) B. S. Minhal 
 “kf;fs; jpl;lk; “vd;gij cUthf;fpath; 
 a) nkhfyhdhgp];   b) [t`h;yhy; NeU 
 c) M. N. uha;    d) B. S. kpd;`hy; 
 
 
179. Reserve Bank of India was inaugurated in  
 a) April 1930  b) April 1935  c) April 1947  d) April 1950 
 
 ,e;jpa uprh;t; tq;fp Jtf;fg;gl;l Mz;L 
 a) Vg;uy; 1930 b) Vg;uy;1935  c) Vg;uy;1947  d) Vg;uy;1950 
 
 
180. By which amendment, the associate status of Sikkim was abolished and made her 

a  full-fledged State (no.22) of the Indian Union? 
 a) 35th Amendment   b) 34th Amendment 
 c) 36th Amendment   d) 37th Amendment 
 
 ve;j murpayikg;G jpUj;jj;jpd; %yk;> rpf;fpk;-d; ,iz me;j];J 

xopf;fg;gl;L> ,e;jpa [f;fpaj;jpd; 22tJ khepykhf khw;wpaikf;fg;gl;lJ? 
 a) 35 tJ murpayikg;G jpUj;jk; 
 b) 34 tJ murpayikg;G jpUj;jk; 
 c) 36 tJ murpayikg;G jpUj;jk; 
 d) 37 tJ murpayikg;G jpUj;jk; 
 
 
181. Which Article deals with the appointment and Service of Comptroller and Auditor 

General of India? 
 a) Article 147  b) Article 148  c) Article 149  d) Article 150 
 
 ve;j tpjp ,e;jpa jiyik fzf;F kw;Wk; jzpf;if mjpfhhpapd; epakdk; 

kw;Wk; gzpfis gw;wp tpthjpf;fpwJ?  
 a)  tpjp 147  b)  tpjp 148  c)  tpjp 149  d)  tpjp 150 
 
 
182. A father said to his son, “your age now is the same as my age at the time of your 

birth “If the father’s age is  38 years now, the son’s age five years back was 
 a) 14   b) 19   c) 24   d) 38 
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 xU je;ij kfdplk; nrhy;fpwhh;> ‘eP gpwf;Fk;NghJ vd; taJ ,g;nghJ cd; 
taJ’ vd;W. ,d;W je;ijapd; taJ 38 Mz;Lfs; vd;why; Ie;J 
tUlq;fSf;F Kd; kfdpd; taJ vd;d? 

 a) 14 Mz;Lfs; b) 19 Mz;Lfs;  c) 24 Mz;Lfs; d) 38 Mz;Lfs; 
 
 
183. On selling a chair at 7% loss and a table at 17% gain, a man gains 296. If he sells 

the chair at 7% gain and table at 12% gain then he gains Rs 400. The actual price 
of the table is 

 a) Rs 1400  b) Rs 2400  c) Rs 400  d) Rs 800 
  
 ehw;fhypia 7% e\;lj;jpw;Fk;> Nki[ia 17% ,yhgj;jpw;Fk; xUtd; 

tpw;why; mtd; &. 296 ,yhgkilfpwhd;. ,ijNa ehw;fhyp 7% 
,yhgj;jpw;Fk; Nki[ 12% ,yhgj;jpw;Fk; tpw;why; mtd; ngWk; ,yhgk; 
&400 vdpy; Nki[apd; cz;ikahd tpiy. 

 a) & 1400  b) & 2400  c) & 400  d) & 800  
 
 
184. The radii of two circular ends of a frustum shaped bucket are 15 cm and 8 cm. If 

its depth is 63 cm, find the capacity of the bucket in liters (Take x = 
22

7
) 

 a) 2.6994 liters b) 26.994 liters c) 269.94 liters d) 2699.4 liters 
 

xU ,ilf;fz;l tbtpyhd thspapd; Nkw;Gw kw;Wk; mbg;Gw Muq;fs; 
KiwNa 15 nr.kP kw;Wk; 8 nr.kP NkYk; Mok; 63 nr.kP vdpy;> mjd; 

nfhs;ssit ypl;lhpy; fhz;f (x = 
22

7
) 

a) 2.6994 ypl;lh; b) 26.994 ypl;lh; c) 269.94 ypl;lh; d) 2699.4 ypl;lh; 
 
 
185. The diameter of a circle is 10 cm. “P” is the point lying outside the circle. From 

that point “P” two tangents are drawn to the circle. The length of each tangent is 
12 cm. What is the distance between “P” and the centre of the circle. 

 a) 12 cm  b) 13 cm  c) 15 cm  d) 10 cm 
 
 10 nr.kP tpl;lKs;s tl;lj;jpd; ntspNa “P” vd;w Gs;sp cs;sJ. Gs;sp 

“P” apypUe;J tl;lj;jpw;F ,uz;L njhLNfhLfs; tiuag;gl;Ls;sJ. 
xt;nthU njhLNfhl;bd; ePsKk; 12 nr.kP vdpy; tl;lj;jpd; ikaj;jpw;Fk; 
Gs;sp “P” f;Fk; ,ilg;gl;l njhiyT vd;d? 

 a) 12 nr.kP  b) 13 nr.kP  c) 15 nr.kP  d) 10 nr.kP 
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186. Which committee has been constituted by the Central government to coordinate 
 the discharge of floodwaters from Kerala – Tamil Nadu inter – State projects? 
 a) Narendra Kumar committee b) Kirti Sharma committee 
 c) Ajit Doval committee  d) M S Das committee 
 
 nts;sePiu Nfus – jkpofk; jpl;lq;fSf;F mDg;g kj;jpa murhy; 
 epakpf;fg;gl;l FO 
 a) eNue;jpu Fkhh; FO  b) fPh;j;jp rh;kh FO 
 c) m[pj; Njhty; FO  d) M S jh]; FO 
 
 
187. Which of the following is the India’s biggest cyclotron facility, which recently 
 became operational? 
 a) Cyclone – 103  

b) Cyclone – 123  
c) Cyclone – 68  
d) Cyclone – 30 

 
 ,e;jpahtpd; kpfg;nghpa irf;Nshl;uhd; jpl;lk; eilKiwf;F te;Js;sJ 
 mjd; ngah;  
 a) Cyclone – 103  

b) Cyclone – 123  
c) Cyclone – 68  
d) Cyclone – 30 

 
 
188. Which constitutional amendment added four new languages to the 8th schedule 

of the constitution? 
 a) 91st Amendment – 2003   

b) 92nd Amendment – 2003 
 c) 93rd Amendment – 2005   

d) 94th Amendment – 2006 
 
 ve;j murpayikg;G jpUj;jk; murpayikg;gpd; 8tJ ml;ltizapy; ehd;F 

Gjpa nkhopfis Nrh;j;jJ? 
 a) 91 tJ rl;lj;jpUj;jk; 2003  

b) 92 tJ rl;lj;jpUj;jk; 2003 
 c) 93 tJ rl;ljpUj;jk; 2005  

d) 94 tJ rl;lj;jpUj;jk; - 2006 
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189. Which one of the following persons was selected as the President temporarily at 
the first session of Constituent Assembly? 

 a) Sachidananda Singha  b) Rajendra Prasad 
 c) Dr. B. R. Ambedkar  d) K. M. Panikkar 
 
 gpd;tUk; egh;fspy; vth; murpay; mikg;G eph;za rigapd; jw;fhypf 

jiytuhf Kjy; $l;lj;jpy; Njh;e;njLf;fg;gl;lth;? 
 a) rr;rpdhe;j rpd;`h  b) uhN[e;jpu gpurhj; 
 c) lhf;lh;.gp.Mh;. mk;Ngj;fhh; d) Nf.vk;.gzpf;fh; 
 
 
190. Median of 12, 17, 5, 8, 13, 6, 9 is 
 a) 8   b) 9   c) 12   d) 17 
 
 12, 17, 5, 8, 13, 6, 9 vd;w tptuq;fspd; ,ilepiy msT 
 a) 8   b) 9   c) 12   d) 17 
 
 
191. Sum to n terms of an Arithmetic progression is 2n2 + n then eighth term to 
 a) 136   b) 36   c) 131   d) 31 
 
 xU $l;Lj; njhlh; thpirapd; n cWg;Gfspd; $Ljy; 2n2 + n vdpy;; mjd; 

vl;lhk; cWg;G vJ? 
 a) 136   b) 36   c) 131   d) 31 
 
 

192. Simplify: 
x+3

x3− 1
  + 

3x+9

x2+ x+1
 

 

a) 
1

3x+1
    

   
b) 3x + 1 
 

   
c) 3x – 3  

  

d) 
1

3x−3
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RUf;Ff: 
x+3

x3− 1
  + 

3x+9

x2+ x+1
 

 

a) 
1

3x+1
    

   
b) 3x + 1 
 

   
c) 3x – 3  

  

d) 
1

3x−3
 

 
193. Identify the commonly used bio – fertilizers: 
 1) Rhizobium 
 2) Rhizopus 
 3) Anabaena 
 4) Nostoe 
 a) 1 & 3  b) 2 & 3  c) 1, 3, 4  d) 2, 3, 4 
 
 nghJthf gad;gLj;jg;gLk; caphp – cuq;fs; vit? 
 1) iuNrhgpak; 
 2) iuNrhg]; 
 3) mdgpdh 
 4) eh];lhf; 
 a) 1 & 3  b) 2 & 3  c) 1, 3, 4  d) 2, 3, 4 
 
 
 
194. Blood Platelets are 
 a) Small, nucleated structures  

b) Large, non-nucleated structures 
 c) Small, red in colour   

d) Small, non-nucleated colourless structures 
 
 ,uj;jj; jl;ilr; nry;fs; vdg;gLgit 
 a) cl;fUTld; $ba> rpwpa nry;fs; 
 b) cl;fU mw;w nghpa nry;fs; 
 c) rpwpa> rptg;G epw nry;fs; 
 d) cl;fUtw;w kw;Wk; epwkw;w rpwpa nry;fs; 
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195. What is the India’s rank at the 2018 Global Hunger Index (GHI)? 
 a) 113th  b) 94th   c) 44th   d) 103rd 

 
 rh;tNjr grpj;jpUg;Nghh; FwpaPL – 2018d; gb ,e;jpahtpd; ,lk;? 
 a) 113th  b) 94th   c) 44th   d) 103rd 

 
 
196. What is the theme of the 2018 International Day of the Girl? 
 a) With Her : A Skilled Girl Force 
 b) Empower Girls : Before, during and affer crises 
 c) Girl’s Progress = Goal’s Progress : What Counts for Girls 
 d) The Power of Adolescent Girl : Vision for 2030 
 
 rh;tNjr ngz; Foe;ijfs; jpdk; - 2018d; ikaf;fU? 
 a) With Her : A Skilled Girl Force 
 b) Empower Girls : Before, during and affer crises 
 c) Girl’s Progress = Goal’s Progress : What Counts for Girls 
 d) The Power of Adolescent Girl : Vision for 2030 
 
 
197. Who has been named as the flag-bearer of the India contingent for the 3rd Youth 
 Olympic Games 2018? 
 a) Mehuli Ghosh    

b) Saurabh Chaudhary 
 c) Manu Bhaker    

d) Lakshya Sena 
 
 3tJ A+j; xypk;gpf; Nghl;b – 2018 d; Jtf;fj;jpy; ,e;jpa nfhbia Rke;J 
 nrd;wth; ahh;? 
 a) nkFyp Nfh\;  

b) nrsug; rTj;hp  
c) kD ghf;fh;  
d) yf;rah Nrdh 

 
 
198. Chemically hormones can be 
 1) Proteins 
 2) Steroids 
 3) Amino Acids 
 4) Carbohydrates 
 a) 1 only  b) 1 & 2 only  c) 1, 2, 3  d) 1, 2, 3, 4 
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 Ntjpay; Kiwg;gb `hh;Nkhd;fs; vd;gd 
 1) Gujq;fs; 
 2) ];Bbuha;Lfs; 
 3) mkpNdh mkpyq;fs; 
 4) fhh;Ngh i`l;Nul;Lfs; 
 a) 1 only  b) 1 & 2 only  c) 1, 2, 3  d) 1, 2, 3, 4 
 
 
199. What is the G. C.D. of 6 (2x2 – 3x -2), 8 (4x2 + 4x + 1), and 12 (2x 2+ 7x + 3)? 
 a) 4 (x + 3)   

b) 2 (2x + 1)   
c) 8 (2x + 3)   
d) 8 (x + 3) 
6 (2x2 – 3x -2), 8 (4x2 + 4x + 1), kw;Wk; 12 (2x 2+ 7x + 3) Mfpatw;wpd; kP.ngh.t. 
vd;d? 
a) 4 (x + 3)   
b) 2 (2x + 1)   
c) 8 (2x + 3)   
d) 8 (x + 3) 

 
 
200. Diabetes Mellitus 
 a) Occurs due to excessive secretion of Insulin 
 b) Causes excretion of Amino acids in urine 
 c) May lead to complication such as Neuropathy and Nephropathy 
 d) Is caused by excessive intake of sugar and sugar products 
 
 lahngb]; nkypl]; vd;gJ 
 a) mjpf msT ,d;Rypd; Rug;gjhy; cz;lhfpwJ 
 b) rpWePh; %yk; mkpNdh mkpyq;fs; ntspNaw;wg;gLfpwJ 
 c) epA+Nuhgjp kw;Wk; neg;Nuhgjp gpur;ridfis Njhw;Wtpf;fpwJ 
 d) rh;f;fiu kw;Wk; rh;f;fiu nghUl;fis mjpf mstpy; cl;nfhs;tjhy; 
 cz;lhfpwJ. 

 
 


